1. Write the letter of the correct choice in the gaps in the text.

a) Once completed, Fisher’s tower may really do this.
b) He said that the spinning would be slow enough that no one will notice.
¢) They will generate enough electricity to power the entire building.

d) The 80-storey tower will have turning floors.

2. Complete the sentences with the correct word from the text.

a) You should be confidentand .................c.cccooeoooeceneeeoo.. wheen you have a job interview.

b) The .....ccooevevivivvvvcvecvenne.. OF @ volcano is so hot that scientists need special equipment to film it.

¢} We live in such an old building that every day there is a problem with the ... SystEM.
d) Theytookthe ............c.cc..coococee.ooe.... and started watering the plants in the garden.

e) The rocking ......ccccocevevrvvvrccvcnrverneenn. Of the boat made Sylvia feel sick.



